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WIRILERRFOECH «

PR Wi 100mLx1 i, 4CIRA7

W5 —: WK 2.5mLx1 i, 4CHRAE;

WA e Widk 12.5mLx1 i, 4CHEETE.
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1. EEIEFRANE. SCBERME AR S 0E N, BOEREE: WRAESgEsE (1044 ¢ 42

BURAAF (mL) 24 500~1000: 1 (LGB G 500 /540 B sk 4N ImL $2E0RD, A B (KIS,

IJJK 20%5K 200W, #HFE 3s, [B]FF 10s, B 30 K), #+E 30min, 8000g, 25°C &4 10min, L &R,
AL ERASURE (g) « IEGRMAFI(mL)A 1: 5~10 FILLE] CEIFRINZ) 0.1g HZ, I ImL 32

ﬁlﬁﬁ) ATV ZI2E, %8 30min, 8000g, 25°CE.C» 10min, HU_EiERFN,

3. IMiE CR FEf: ZRIME G A (mL) « JRERAEF(mL)Y 1: 5~10 [ EH] G 0.1mL 1fi

B CGE I ImL #2800, #EATUKIRAI3E, #HE 30min, 8000g, 25°C &L 10min, HX_EIERFMN.

MELER:

I 36T BRBEAR A T 30min LA L, AT ZE 520nm, ZEI/KIAZE.

2. TERE A SE LB LB, 96 FLAR I 75uL FEASAN 25uL 7 —, TRA1, #E 2min, M 125uL 57—,

B2, T 520nm BFEAALN EEOGE Al

ARSI EHE:
a. )ﬂﬁiﬁ%tbﬁﬂﬂiﬂﬂiﬁﬁﬁ@&ﬁ#ﬂ?

« BRUESEAE TR IE | H RN y = 0.0466x + 0.0675;  x NHABIRES® (ug/ml), y ABIGHE.
2. HIEImE G HmEREE
HERR &8 (ug/mL) =[(A-0.0675)0.0466xV1]+ (V3xVI1+V2) =214.6%(A-0.0675)
3. BIREOWRETE
HEARR & & (ug/mg prot) =[(A-0.0675)+0.0466xV1]+(V1xCpr)=21.46x(A-0.0675) ~Cpr
4. FRHERE SR T
WERR &8 (pg/g B E) =[(A-0.0675)+0.0466xV1]+(W xV1+V2) =21.46x(A-0.0675) +W
3. TR B B4 A A B
HEARR &8 (ug/10% cel) =[(A-0.0675)+0.0466xV1]+ (500xV1+V2) =0.043x(A-0.0675)

s NP RFEEARE, 0.075mL; V2: IIASREURMAR, 1 mL; V3: fIANILE O 4, 0.1

mL; Cpr: FEARBEFRKE, mg/mL; W: HARFE, g5 500: ZHHEAIMEE, 500 75,
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b. A 96 FLARAE RTHE AR

1. ARAEAE FIE RIS FE N y = 0.0233x + 0.0675;  x NNEAER S & (ug/mL), y NRIGIE.
2. BRI R HBHE

HERR &8 (ug/mL) =[(A-0.0675)0.0233xV1]+ (V3xVI+V2) =429.2x(A-0.0675)

3. BIREOWRETE

HEARR & & (ug/mg prot) =[(A-0.0675)+0.0233xV1]+(V1xCpr)=42.92x(A-0.0675) ~Cpr

N 7R S Y

WERR &8 (pg/g B E) =[(A-0.0675)+0.0233xV1]+(W xV1+V2) =42.92x(A-0.0675) +W

3. IR B B4 A B

HEARR &8 (ug/10% cel) =[(A-0.0675)+0.0233xV1]+ (500xV1+V2) =0.086x(A-0.0675)

V1: AR ZPFEAETR, 0.075mL; V2: MARBBAER, 1mL: V3: IIAIIE GO 4, 0.1
mL; Cpr: FEARBERKE, mg/mL; W: HARE, g5 500: ZHHBAIMEE, 500 75,
EE: BRATRA lug/mL 5% 1ug/g B FE 58 10ng/mg prot
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